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w19y ContourPlot[(y-2x)+2, (=, -10, 10}, (v, -10, 10}, Contours - 15,
ContourShading -» None, ContourStyle -+ Black, ImageSize - {200, 200}]
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in11p= ContourPlot[y - Log([x], {x, -1, 9}, {y, -5, 5}, Contours - 15,
ContourShading -» None, ContourStyle -» Black, ImageSize - {200, 200}]
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ContourPlot [y * EA X,

ContourShading + None, ContourStyle - Black, TImageSize - {200, 200}]
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{y¥, -10, 10}, Contours - 15,
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15} ContourPlot [Sgrt[y*2 -x42], {(x, -5, 5}, {¥. -5, 5}, Contours - 15,
ContourShading -» None, ContourStyle - Black, ImageSize - {200, 200}]
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